1

0 - 0,12 nN (K+G+Ph), ogolnie bruk z kamieni polnych jest, na tym na
przestrzeni lat nawieziono glin, gleby itp.

0,12- 0,45 nN (2), szg/In
0,45 - 0,7 nN (Pd) zé6tty szg
0,7-1,0 Gp, pl, IL=0,4

1,0 - 2,0 I, tpl, 1L=0,2

Sgczenie 1,8m

2

0 — 0,08 Asfalt

0,08 — 0,24 nN (G) pl/tpl
0,24 — 0,5 nN (Z) szg/In
0,5-0,7 nN (Ps) szg/In
0,7 -1,0 Pgpl, IL=0,4

1,0 - 1,4 G+ltw pl, IL=0,4
1,4 -1,7 Gz/lt tpl 1L=0,2

Saczenie 1,8m

3

0 -0,08 Asfalt

0,08 — 0,12 nN (G) pl/tpl
0,12 - 0,3 nN (Z) szg/In
0,3 -0,7 nN (Ps+G) szg
0,7 — 1,0 Gp plitpl IL=0,3

Signed by /
1,0 - 2,0 ” tpl IL=0,2 @ Podpisano przez:

Mirostaw

Goworko
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